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Economic marinalisation

[DES216] Why is graduate unemployment very high in Nigeria ?
Weak technical education

[DES216] What was the aim of the 1965A¢4a,~A“Statement of Policy on
TransportA¢a,-~ALl?
All of the above

[DES216] One reason for the failure of ECOWAS to achieve economic development of
theregion isA¢4,-A!A¢a,-A!
Industrial underdevelopment

[DES216] The MDGs initiative partly aimed at involvingA¢a,-A!A¢a,-A!A¢a,-Al.in word
wide poverty reduction
Developed World

[DES216] The social infrastructural sub-sector caters
forAca,—AlAca,-AjACa,-A]ACa,-A}.of Nigerians
Welfare

[DES216] On what does Nigeria's balance of payment position depend?
Crude oil price

[DES216] The Federal Government's monetisation programme was recommended
byAc¢a,-AlAca,-Al?
Revenue Moblllzatlon, Allocation and Fiscal Commission

[DES216] Why is electricity consumption in Nigeria Iragely residential?
Low industrialisation

[DES216] Infrastructure sector is A¢a,-AlA¢a,-AlA¢a,-AlA¢a-AlA¢a,-A! to the
service sector.
nearlythe same
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